) ﬂg PIT— SR

(1) &EIZE?
NP O
chsstt 1 N e
IRES 16 0% 3%
1588 2
FKETES 5 ZDh (8B
zot @z | 9 e )

27%

KEITR

f , e
° 6%

(2] CObH % afd TRDFELED?

VHD

FS5Y 18 [2] BHEETH-T=7
18 5
HMADSDBN| 5
Zot W% | [

Z D fth (B

5%)

20% g0 A DV

DB

14%

(3] HERICSHISNITEEIS ?

[ON)
s—orepmeannzn | 10 [3] mﬁ%ﬁ ‘ :%7]'] Lf: Ejm
2R—wRBsCEEsD | 2
agorECELEn | 9 ‘j: ?
roEzEIEIES | 3 DN
HACHEONT 3 e T Ot
Z 0t 3 iy 5%

= I<73
IR D
Y
17%

15% 45%




(4] HEZDIBBIIESTLEED?

[ON)]

B [4)BHEEDERIE 2
%E_Lb\ 2 %@%

L
3%

(5] RBICDNTENET,
DFEAE NI—TIVEERBR~TONAZ T« DRELTOIREM~ ]
I—DIVEERRICDOVWTIBFECEFILEDL?

(O]

BRCSL 30 CO)ER R 1 {e

ﬁ&gi&mt C2) WCEETE=?

== s AR CEN
Euned_ % oof=

WAL 0%

8%

BEETET-
86%

SEOEBICERIIDABCTLEND?

(O]

IO 129 [5QD)S#DEFIZE®IZIL
EBEEEEZ RN
BICI7/E750) | O . DHBEMN?
oS 3 A s
0% " o%

Ebibéd
BAEL
8%




(5] RBICDNTEET,
@280 MRI>THDIFD | AM—YRE]

AM—YREICDWTIBFECEHLENL?

ST 3 [5@)RKE—YEEI=DLNT

ggpcsanore| O mE HERBTEE-HN"7?
%@% 3 8%

Ebibet
AV RAA
6%

BETER
hot=
0%

SEOEBICERIIDANETLZNL?

(O]

essessann O 5 =27 D %‘-&'-M
e =AY )
mOS | 2 OB
6%

&L=

AR

3%

EbinEL

EAHL
0%




